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Write your answer as an inequality.
19. Simpliy.

V75 - 3/27

20. Add.
(6—2i)+(4+31)

Write your answer as a complex number in standard form.

21. Multiply.

(-3461)(—4+31)

Write your answer as a complex number in standard form.
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22. Write in terms of I

Simplify your answer as much as possible.

V=72

2
2. Find all complex solutions of 2x —3x+6=0

24. The cost C (in dollars) of manufacturing x wheels at Ravi's Bicycle Supply is given by the function

C (x) =05 xz —170x+ 25,850 What is the minimum cost of manufacturing wheels?

Do not round your answer.





